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£x = 180° — 60° = 120°
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® AB = 4V6cm
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BF =BD o|2&2
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/BDF = /DEF = 75°
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.. /DCE = 9°
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5.0ptDE ©] 2417F2l /DOE = 9° x 2 = 18° o]t}
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@ 20mcm @ 24mem
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PT =PI/ .. PT+PT/= v21x2=2+2lcm
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AMED = BE - 4 °]t}.,

ED + BC = BE + DC 0|22 ED 4 12 = BE + 8 o]t} wa}
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ABE ©|X] BE? = (16 - BE)? + 82 o|c}. we}A BE = 10 ©]tt.
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AB2 = BC x BE
6 =4 (445 +3)
9+x=16 .. x=7

20 9 A2 Aol o 5t
DG=r+2 DF=r-2

DG x DF = DC x DE
(r+2)(r-2)=5x7
r?=35+4=39

r= 39
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ABLCD |t CE=2,FB=3¢ o, &

A9] WHx 5| Aol Fatolet.

2 99 A5 A0 = r2} ohe
EO=GO=r-2,FO=r-3
r(r-3)=(r-2)2
r?=3r=r?—4r+4
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® 4 @ 45 ®)5
@ 55 ® 6

~&B

A E,B,C,F &= g ¢ 919 33 24 AB,AC & FAlo] Hrt.
7%10 = x (x + 9)

70 = x2 + 9x

2 +9x-70=0

(x+14)(x=5)=0

Lx=5(rx>0)




